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 Chapter 19.01

Multiple-Choice Test

Chapter 09.01
Golden Section Search Method
1. Which of the following statements is incorrect regarding the Equal Interval Search and Golden Section Search methods?

(A) Both methods require an initial boundary region to start the search

(B) The number of iterations in both methods are affected by the size of 
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(C) Everything else being equal, the Golden Section Search method should find an optimal solution faster.

(D) Everything else being equal, the Equal Interval Search method should find an optimal solution faster.

2. Which of the following parameters is not required to use the Golden Section Search method for optimization?

(A) The lower bound for the search region

(B) The upper bound for the search region

(C) The golden ratio

(D) The function to be optimized

3. When applying the Golden Section Search method to a function 
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to find its maximum, the 
[image: image3.wmf])

(

)

(

2

1

x

f

x

f

>

condition holds true for the intermediate points 
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. Which of the following statements is incorrect?

(A) The new search region is determined by 
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(B) The intermediate point 
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stays as one of the intermediate points
(C) The upper bound 
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 stays the same

(D) The new search region is determined by 
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4. In the graph below, the lower and upper boundary of the search is given by 
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 are the initial intermediary points, which of the following statement is false?
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(A) The distance between 
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(B) The distance between 
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is approximately 0.618 times the distance between 
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(C) The distance between 
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(D) The distance between 
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is equal to the distance between 
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5. Using the Golden Section Search method, find two numbers whose sum is 90 and their product is as large as possible. Use the interval [0,90].
(A)  30 and 60

(B) 45 and 45

(C) 38 and 52
(D) 20 and 70

6. Consider the problem of finding the minimum of the function shown below. Given the intermediate points in the drawing, what would be the search region in the next iteration?
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(A) 
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(B) 
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(D) 
[image: image35.wmf]]

,

[

2

x

x

l


� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���








09.01.1

09.01.2


[image: image1.wmf]e

[image: image36.wmf](

)

4

x

f

[image: image37.wmf](

)

3

x

f

[image: image38.wmf]3

x

[image: image39.wmf]1

x

[image: image40.wmf]4

x

[image: image41.wmf]2

x

[image: image42.wmf](

)

2

x

f

[image: image43.wmf](

)

1

x

f

[image: image44.wmf]2

x

[image: image45.wmf]l

x

[image: image46.wmf]1

x

[image: image47.wmf]u

x

[image: image48.wmf](

)

u

x

f

[image: image49.wmf](

)

2

x

f

[image: image50.wmf](

)

1

x

f

[image: image51.wmf](

)

l

x

f

[image: image52.wmf]x

[image: image53.wmf](

)

x

f

[image: image54.wmf](

)

x

f

[image: image55.wmf]x

[image: image56.wmf]x

[image: image57.wmf]x

[image: image58.wmf](

)

x

f

_1374063322.unknown

_1374063338.unknown

_1376802494.unknown

_1376802739.unknown

_1376802802.unknown

_1376802865.unknown

_1376802885.unknown

_1376802822.unknown

_1376802779.unknown

_1376802759.unknown

_1376802694.unknown

_1376802716.unknown

_1376802674.unknown

_1376802317.unknown

_1376802438.unknown

_1376802473.unknown

_1376802365.unknown

_1376802415.unknown

_1376802385.unknown

_1376802333.unknown

_1376802266.unknown

_1376802292.unknown

_1374063339.unknown

_1374063330.unknown

_1374063334.unknown

_1374063336.unknown

_1374063337.unknown

_1374063335.unknown

_1374063332.unknown

_1374063333.unknown

_1374063331.unknown

_1374063326.unknown

_1374063328.unknown

_1374063329.unknown

_1374063327.unknown

_1374063324.unknown

_1374063325.unknown

_1374063323.unknown

_1374063314.unknown

_1374063318.unknown

_1374063320.unknown

_1374063321.unknown

_1374063319.unknown

_1374063316.unknown

_1374063317.unknown

_1374063315.unknown

_1374063310.unknown

_1374063312.unknown

_1374063313.unknown

_1374063311.unknown

_1374063308.unknown

_1374063309.unknown

_1374063307.unknown

